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General Instruction:-

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections — A, B, C and D.

3. Section A contains 4 questions of 1 mark each. Section B contains 6 questions of 2 marks each. Section
C contains 10 questions of 3 marks each and Section D contains 11 questions of 4 marks each.

4. Use of Calculator is prohibited.

5. An additional 15 minutes has been allotted to read the question paper. During this period students will
read the question paper only and will not write any answer on the answer book.

AT A& -

. T ueeT AT § !

RETA TA IT H R T & W IR Wl - 3, §, g3 g & faonfoa g

3WS I AYMIE AT T TRAF ¢ b AT g | WS I FH € 92T § o8 I 9ds  37ahi
FE WS IAHoMIAE T A TRAF 3 3P AT g ! @S g A 22 927 § a7 I 9
¥ 3l H &

¥ Sholepeled T JANET dioidl & |

4.3 YT UF Pl Yool & foiv ¢ e &1 3faRked gag ar = § | 5§ 3@f & ek
faemedt Shael woaT O &1 Y& 3R T el YR T HIS el w161 fordar |

SECTION A
gs i
1. Write a rational number between § and 1

- 3R 2 & 97 T aRAT TEr o |

2. Evaluate 9° + (-6)° + (-3)°
93 + (-6)° + (-3)° &I AT FATU!

3.Ina AABC, AB = AC, ~BAC = 80°, then find ZABC.
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foely T%[sT ABC #, AB=AC @aT «BAC=80"& I £ABC I HIY FTC !

4. What will be the general form of co-ordinates of any point on the y-axis?

y-318T R & fonell g & fAgmael &1 araea &9 a1 gem ?

SECTION B
s q

5. Express 32 in the decimal form and state the kind of decimal expansion.

3F GAANT & T H yad HY 3R TE TV H ST GAAAT §T FT THR H § 2

6. Evaluate the product without multiplying directly.

ICGI Irom IE) U I[UTIthe U -

104 x 96

7. In the given figure, if AB =BC and BX = BY show that AX =CY.

few s ™ & 39R AB=BC 3ik BX =BY ar &2& f& AX =CY.

8. In the given figure, AD is the perpendicular bisector of side BC of AABC. Show that

AABD — AACD

ArY fqu arv T A, AD AABCHI $[olT BC &I ofF<dd e [dsieleh 3G ¢ | 2T & AABD

— AACD

B D C

9. On which axes do the given points lie?

few a1v foig fohet 3787 R f&ud 87
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(0, 4), (-2, 0), (3, 0) and (0, -1)
10. Find the area of triangle of sides 12 cm, 16cm, and 20 cm.
39 F33[eT 7 & fashrel |, TorEehT ofov 12T, 16 @A 3R 20 4T & |
SECTION C
s |

11. Find the values of aand b if :;:: =a+by2.

a 3R b AT WFrer IR EHZ a4+ b2 BT

6+&T

12. Represent 5 on the number line. Write the steps of construction.

V5 &I FE&IT 3@ X d &Y | dadrae & Offe gt & ford |
13. Write (x + 2y — 3z)? in expanded form.

(X +2y—32)° @l o &7 & fog |

14. If 2x + 3y = 12 and xy = 6 find the value of 8x® + 27y*

afe 2x+3y =123 xy=68" ar 8x’+27y*a&r AT ferer |

15. In the figure , AB||CD, L APQ =50° and L PRD = 125° find y — x.

fgw arv a7 # |, AB||CD, LAPQ =50° 31X LPRD =125°gT @l y - x &l HIeT feiehrel !

16. In AABC, LB =35°, L C =65° and bisector of L_ A meets BC at point D. Find LADB and LADC.

AABC # LB =35 LC=65 3R &1 A Hr gHAcfastes 3@ BC ¥ D fog w fAeh & !
L ADB 3R LADC & &Tel fa¥ehrel !

hitps:/byijus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

The Learning App

350
¢ D — B

17. In the figure, if 1||m, L1= (x + 30%) and L2 = (2x + 15°) .Find L.3 and L 4.

T 7 afg | 3R m AR L1= (x +30%) 31k L2=(2x+15% g af L33 L4 &1 &
IGEICHS

\

18. In the given figure, LB < LA and L C < L. D. Show that AD < BC.

RUITRTH LB, LA BT § 3 LC, LD ¥ ©er g, 2 & AD, BC & @ler ¢!

A C

19. Plot the points A(-3,2), B(-5,-4), C(-2,-4) and D(0,2). What figures do you get on joining the points in
order.

=@l A(-3.2), B(-5,-), C(-2,-4) @41 D(0,2) & UMb YR W =M | g4 Tdegai 1 HA @
e w @l a1 3mpfd Rerdh § 2.

20. In the four sided field, the length of longer diagonal is 128m. The lengths of perpendiculars from the
opposite vertices upon this diagonal are 22.7 m and 17.3 m. find the area of the field.
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Teh TSR W & Aol #iT oFrs 128 AL § | Aol & gegw A & fgeol @ osrel
T oS T FFaEAT 22.7 AL AR 17.3 H. § | I FT &b ATl |

SECTION D
s g

- T B+ ¢
21 If x =Z="Zand y = 2= find x* + xy + y°.
¥5+ 2 WE— 2

X:-\,'E—W'Em y:«,-i+«ﬁ ar X2+xy+y2_$|'3:|TF|'ﬁ'a7l'g|'!

WE5+42 JE-T

22. Prove that (F1fad &Y foR):-

23. Factorise (J[0TES &Y ):
2x% — 9x% + x + 12
24. If x +y + z = 0 show that x° + y* + z° = 3xyz

gig x+y+z=0ar &2 & 3 +y* + 22 =3xyz

25. If the polynomials ax® + 4x? + 3x — 4 and x® — 4x + a leave the same remainder when divided by (x-3),
find the value of a.

3R Sgual ax’ + 4 + 3x — 4 3 x° — dx + a W (x-3) F eI fohar S A el QW ARy
9T gidl & df a T #A faerer |

26. Ifa+b+c=15and a’ + b? + ¢ = 83, find the value of a® + b® + ¢* -3abc

3PN a+b+c=153M a®+b*+c®>=83 g ar a’+ b +c3-3abc &1 AT 4T !
27. Prove that the sum of three angles of a triangle is two right angles..

arfed & o Rl Breger & et @Ol @ AT & FHIOT F SR g ¢ !
28. In the given figure, AC = AE, AB = AD and LBAD = LEAC. Show that BC = DE.
few srw 7 A, AC=AE,AB=AD 3R LBAD=LEAC#E dl g2 f& BC=DE
29. ABC is a right angled triangle in which LA = 90° and AB = AC. Find LB and LC.

ABC Ueh HHIUT T387oT §, ToIEehT &I0T A GHHIOT § 3R AB = AC § o 0T B T HIUT C
FT AT el |

30. BE and CF are two equal attitudes of a triangle ABC. Using RHS congruence rule, Prove that triangle
ABC is isosceles.
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fs(st ABC &1 Feméai BE iR CFRIeY § | 3R U9 U HAWHA @H &1 39897 ad §u
wfed Y & ABC Us waefaarg Feger ¢ !

31. Anwar Ali has a farm in the shape of a square ABCD. Its diagonals AC and BD intersect at O. Show
that A AOB = ABOC = ACOD = ADOA. He makes a will in which he gives two triangular parts to his

son and daughter and other two parts for opening a dispensary and a library. Which values are shown by
decision of Anwar Ali in making provisions for library and dispensary.

3eaX 3 & U ABCD @31 & 3T T Tsh W ¢ | $Hb fahol AC 3R BD Ush gl &l
O foig X e & ! & fF - AAOB = ABOC = ACOD = ADOA & ! @8 39ell a@fiad # ar
ISR #1191 3791 SfieT 3R o< & &1 I & 3R AW 2l AR a7 & 3rqarer 3R
qEARITT TielalT dEcT § | JEhIe 3 3ETdlel T AT geel i & 3efax 7ol bt
Hedl H JaRT HT §7?
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Marking scheme
Set -1l
Class IX Mathematics SA-1, 2015-16
1. = 1
12
2. 486 1
3. ZABC =50° 1
4. 0yy) 1
5. 33 = 3.8, terminating decimal 2
6. (100 + 4 )x(100-4) = 10000 — 16 = 9984
2
7. AB-BX=BC-BY 1
AX=CY 1
8. BD=CD, zBDA=/ZCDA=90°, AD=AD 1
AABD = AACD(SAS) 1
9. Y-axis, X- axis, X-axis, Y-axis 2
10. S=24cm. il
area = 96cm’ 1
11. "-E'a;"_“:;' =a+ b2 1
B8 —48 2 —a+ b\."E 1
a=17,b= —12 J
12. Representation of number line 2
For writing steps of construction. 1
13. (x+2y—32)* = (x)*+ (29)* + (—32)* + 4xy + (—12yz) + (—6zx) 1%
=x? + 4y* + 97% + 4xy - 12yz — 62X 1%
14. (2x + 3y)* — 18xy( 2x + 3y) 1
=(12)®-18x6x 12 1
=432 1
15.x=50° 1
y=75"
y—x =25"
16. ZBAC =80°
ZBAD =/CAD = 40’ 1
ZADB = 40+65 = 105’ 1
ZADC = 40+35=75° 1
17. Z1+./2=180° so, x=45° 1
£3=/1=75° 1
£4=,2=105° 1
18. AO<OB 1
OD<OC 1

so, AD <BC 1
19. For proper plotting of points on graph paper for reporting the figure formed on joining the points in
order. 3
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20. area of field = x 128 x (22.7 +17.3) 1
=64x40 1
= 2560 m? 1
21.
it xy+yi=(x+v)? —xy 1
- (LB ey }2_1 1
5-2
_ () o
- (?) =51 .
_ 187
22.
':3—;-'?} + ':w"-"':"g} + (-,-5:-'?} + ':'-:"-':—1]' 1
- 3—'\-,'?-F'\-,'?—'\-,"E':'\,"E—'\."E-F'\-,"i—1 2
=1 1
23.
p(-1)=2x(-1)—-9x1+(-1)+12=0 1
(x +1) is a factor of p(x)
on dividing p(x) by(x+1) the quotient is 2x* — 11x + 24
so the factor of p(x) = (x +1) (x-4) (2x-3)
24, x +y = —= 1
=x? 4+ y¥+3xy(x+y)=—-2%1
=x¥ 4+ y¥ - 3xyz= 23 1
=x?+yi+zi=3xyz 1
25.p(3) =27a+36+9—-—4=27a+ 411
p(3)=27—-124+a=15+a 1
27a+41=15+a 1
26a=—26,a= —1 1
26. 225 =83 +2(ab + bc + ca)l
ab+bc+ca=71 1
a®+b®+c*—3abc=(a+b+c)(a®+b?+c*—ab—bc-ca) 1
=15x(83-71) =180 1

27. For given, to prove correct fig. 2
For correct proof 2

28. Inthe given fig. /BAC=/DAE 1
AB=AD, /BAC = /DAE,AC=AE 1
AABC = AADE (SAS) 1
BC=DE (cpct) 1

29. In AABC, /A=90° /B + ~2C=90° 1
AB=AC & /B=«C 1
So,2/B=90° #/B =451
/B =/C ,£C=45° 1
ZA=/B=/C=60° 1
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30. A BE=CF, ZBEC = ZCFB =90°

CB=BC
ABEC = ACFE RHS
/BCE = ZCBF
/BCA = ZCBA
B e AB=AC
31. Diagonals of a square bisect each other
AO=CO,0B=0B,AB=BC
AAOB = ABOC(SSS)
similarly, ABOC = ACOD, ACOD = ADOA
SO, AAOB = ABOC = ACOD = ADOA
values — Highlighting equal shares for son and daughter, showing
interest for improvement in health and education facilities.
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